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Q.  Assuming the revenue deficiency could be assigned to individual industrial 1 

customers, provide, in a table format, the amount that would be assigned to each 2 

customer for each year, setting out the amount associated with the specifically 3 

assigned charge for each customer for each year.  4 

 5 

 6 

A. Hydro does not take issue with the mathematical calculations provided by NARL 7 

which estimated from a high level the revenue deficiency for each customer. Please 8 

refer to response PUB-NLH-002. 9 


